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1. The ratio equivalent of the fraction 3 =

(i) 1:5 (ii) 1:3 (iii)) 1:0 (iv) 3:1 (v) 0:3

. . .45

2. The ratio equivalent of the fraction 92 =

(i) 92:45 (ii) 45:90 (iii) 45:95 (iv) 45:92 (v) 44:92
3. The fraction equivalent of the ratio6:5 =

(i) o (ii) . (iii) > (iv) o (v) 2

5 5 6 5

4. The fraction equivalent of the ratio31:46 =

O 2 @ 2 i) 2w 2w
46 44 31 46 46

5. The antecendent in the ratio18:1 =

(i) 18 (ii) 1 (iii) 17 (iv) 21 (v) -2

3 4
6. The antecendent in the ratio —= : — =
5 17
(i) 4 (ii) > (iii) 2 (iv) 1
i) — (i) = (i) — (iv
17 5 17

7. The consequent in the ratio10:18 =
(i) 18 (ii) 17 (iii) 10 (iv) 21 (v) 8

7 3
8. The consequent in the ratio —: =
9 14
(i) ° (ii) : (iii) > (iv) ! (v)
i) — (i) = (i) — (iv) = (v) =
14 4 14 9
9. The simplest form of81:27 =
(i) 4:1 (ii) 81:29 (iii)) 2:1 (iv) 3:1 (v) 3:-1

10. Find the missing value in the equation :5=54:9

(i) 31 (ii) 32 (iii) 29 (iv) 28 (v) 30

11. Find the missing value in the equation22: =88:4

(i) 0 (i) 3 (i) 2 (iv) 1 (v) (-2)
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13.

14.

15.

16.

17.

18.

19.

Find the missing value in the equation12:3 = 4

(i) 16 (ii) 13 (iii) 19 (iv) 15 (v) 17

Find the missing value in the equation40:10=12:

(i) 4 (i) 1 (i) 2 (iv) 5 (v) 3

Which of the ratios is proportional to 48 : 8?
(i) 29:5 (ii) 30:5 (iii) 31:5 (iv) 30:7 (v) 30:2

A ratio is equal to 7 : 8. If its antecendent is 770, what is its consequent?

(i) 881 (ii) 880 (iii) 877 (iv) 882 (v) 879

A ratio is equal to 7 : 55. If its consequent is 6435, what is its antecendent?

(i) 820 (ii) 819 (iii) 821 (iv) 818 (v) 817

2 1 28
Find the number which bears the same ratioto 3 that -3 does to 117

(M) 13 (i 15 (i) 13 (iv) 11 W) 13
I 16 ! 14 . 14 W 14 Y 12

If the cost of 290 apples is ¥580.00 and the cost of 100 apples is 200.00, the ratio of apples =

(i) 29:7 (ii) 29:10 (iii) 28:10 (iv) 29:12 (v) 30:10

If the cost of 9 apples is £990.00 and the cost of 120 apples is ¥13200.00, the ratio of apples cost =

(i) 3:37 (ii) 4:40 (iii) 2:40 (iv) 3:40 (v) 3:42
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